R4.12.1 BlE S amEEADR P BT R

JNE] i H FEHE BRI fhENRE TN E)
LU HaEL 5 el Aol sl Al el s Al dsdl AEH (5 | (&5)
ik 48,427 109, 676] 53, 384] 56, 292 48] -11 —44 63 107 33 348] 315 0 116 116
HI—TH 710| 1,499 732 767 -2 -8 -1 0 1 -5 0 5 -2 1 3
FLl T H 562 1,295 637 658 3 1 1 1 0 -3 4 7 3 3 0
LI =TH 459 1,037 505 532 —4 -6 -2 0 2 -2 0 2 -2 0 2
SulAEH 1,731 3,831 1,874] 1,957 -3 -13 -2 1 3 -10 4 14 -1 4 5
Sk —TH 471 946 444 502 0 -3 -2 0 2 1 5 4 -2 0 2
. = 731 1,724 834 890 0 -3 -3 1 4 -1 3 4 1 1 0
SR —TH 5511 1,299 621 678 -3 -5 -1 1 2 -5 1 6 1 1 0
S AT H 401 897 439 458 3 6 0 0 0 2 3 1 4 4 0
o h ] B 617| 1,335 643 692 0 -1 0 1 1 0 3 3 -1 3 4
BN T B 237 502 249 253 1 -1 -1 1 2 0 0 0 0 0 0
ARt TH 647 1,670 806 864 -2 —4 1 2 1 2 9 7 -7 2 9
oA\ T H 390 852 399 453 -2 -5 -3 0 3 -2 2 4 0 0 0
IV B 612 1,452 720 732 1 -3 1 2 1 —4 5 9 0 1 1
B naatl 4,657 10,677 5,155 5,522 -2 -19 -8 8 16 -7 31 38 —4 12 16
e n—1H 352 812 398 414 2 2 -1 0 1 3 4 1 0 1 1
w1 AL 1,004 2,108] 1,065 1,043 4 -1 3 4 11 2 -1 1 2
HHk o —TH 682l 1,411 698 713 -1 0 1 1 7 4 0 1 1
Wk A AERL 2,038 4,331 2,161 2,170 5 10 -2 4 6 15 22 7 -1 3 4
Mt A — T H 5541 1,239 607 632 -1 1 -2 0 2 5 8 3 -2 2 4
ek R _TH 359 920 473 447 4 5 0 0 0 2 2 0 3 3 0
Mk R =TH 262 559 289 270 1 1 1 1 0 0 1 1 0 0 0
ik L G| 562 1,293 652 641 2 -2 0 1 1 -2 1 3 0 2 2
ek aaEtl 1,737 4,011 2,021 1,990 6 5 -1 2 3 5 12 7 1 7 6
TEIT) 365 844 407 437 0 -1 -3 0 3 2 2 0 0 0 0
HOEEN— T H 210 434 211 223 0 -1 -1 0 1 0 0 0 0 0 0
HOEE T H 425 957 462 495 5 8 0 0 0 7 10 3 1 1 0
HoEEI =T H 689 1,706 842 864 2 0 -3 0 3 0 5 5 3 5 2
HOEEAN T H 809 2,019] 1,003[ 1,016 1 -3 —4 0 4 1 7 6 0 0 0
HEROH T H 444 1,028 519 509 2 1 1 2 1 0 1 1 0 0 0
HOEEIS T H 399 894 442 452 0 -1 0 0 0 -1 3 4 0 0 0
HoEEOETH 675! 1,461 711 750 -1 -2 0 2 2 -1 2 3 -1 0 1
HOEEHOS A 3,651 8,499 4,190| 4,309 9 2 -7 4 11 6 28 22 3 6 3
PEEE 1,507 2,789 1,332 1,457 6 -1 -5 0 5 3 11 8 1 1 0
FHIAR 300 634 329 305 2 4 -2 0 2 6 6 0 0 0 0
EE g —T 5501 1,121 517 604 1 7 2 2 0 4 4 0 1 2 1
EE g — T 258 520 261 259 2 4 1 1 0 1 2 1 2 2 0
R =T H 526 1,159 582 577 2 -2 -2 0 2 -1 1 2 1 1 0
TEE Py T 630 1,298 618 680 5 3 2 3 1 1 6 5 0 5 5
EEP g R T H 237 539 270 269 -1 -2 -1 0 1 -1 0 1 0 0 0
HEERP A2 2 201 4,637]  2,248| 2,389 9 10 2 6 4 4 13 9 4 10 6
EEIARRT— T H 672/l 1,363 644 719 1 1 2 2 0 0 8 8 -1 1 2
EEIARRT T H 658 1,284 598 686 5 11 0 0 0 11 16 5 0 2 2
EEOARRTAE 1,3300 2,647 1,242 1,405 6 12 2 2 0 11 24 13 -1 3 4
RPN 277 781 419 362 -5 -7 -2 0 2 -3 0 3 -2 0 2
WHR—TH 706/ 1,621 800 821 -5 -8 0 1 1 -6 7 13 -2 0 2
WOOR T H| 1,749 3,973 1,916] 2,057 1 1 2 3 1 4 13 9 -5 2 7
WHR=TH 865 2,216] 1,083 1,133 —4 -5 -2 1 3 -1 4 -2 0 2
HHRIT H 497 1,182 565 617 4 4 0 0 0 4 2 0 0 0
HPREEH 3,817 8,992| 4,364 4,628 —4 -8 0 5 5 1 29 28 -9 2 11
HiR—TH 684/ 1,531 742 789 4 4 1 3 2 8 10 2 -5 0 5
IHR_"TH 933l 2,240] 1,119] 1,121 3 3 -2 0 2 -2 4 7 9 2
PR =TH 4951 1,052 538 514 2 0 -1 0 1 1 1 0 0 0
dbrhiRaak 2,112l 4,823]  2,399| 2,424 9 7 -2 3 5 7 14 7 2 9 7
T IROBTHT 324 816 392 424 0 0 0 0 0 -1 2 1 2 1
el 1,613 5,116] 2,286 2,830 3 —4 -5 2 7 2 7 -1 2 3
M E T H 729 1,705 821 884 -2 -6 0 0 0 -2 5 -4 0 4
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FYlE 1T H 751 1,805 903 902 -2 -12 0 1 1l -10 2 12 -2 4 6
MoE =1 H 644/ 1,514 755 759 2 2 -1 0 1 3 4 1 0 0 0
A EN T H 928 2,225| 1,047| 1,178 -1 0 2 2 0 -2 3 5 0 3 3
RCENNE 645 1,470 724 746 5 11 -3 1 4 8 10 2 6 7 1
MAEST H 420 987 462 525 1 3 -1 1 2 3 4 1 1 1 0
mlEae 4,117 9,706] 4,712| 4,994 3 -2 -3 5 8 0 26 26 1 15 14
VEPIe S 565I 1,136 562 574 3 3 -1 0 1 3 4 1 1 0
e —TH 321 695 329 366 0 0 0 0 0 0 0 0 0 0
e — T H 603 1,341 635 706 1 3 1 1 0 2 5 0 2 2
A gl 924 2,036 964| 1,072 1 3 1 1 0 2 5 0 2 2
E— 1 H 318 693 354 339 -9 -7 2 2 0 -7 9 16 -2 0 2
= =T H 644 1,374 654 720 0 -5 0 1 1 -2 1 3 -3 1 4
=T H 401 1,055 527 528 1 4 -2 0 2 3 3 0 3 3 0
EAEr| 1,363 3,122 1,535| 1,587 -8 -8 0 3 3 -6 13 19 -2 4 6
e —TH 382 926 436 490 3 1 -1 0 1 2 3 1 0 0 0
WHE T H 444 1,089 545 544 1 0 0 0 0 0 4 4 0 0 0
HWHE =T H 805/ 1,977| 1,008 969 7 14 1 2 1 7 13 6 4 5 1
W& T B 446l 1,031 501 530 -1 -3 -1 0 1 -1 1 2 -1 0 1
B E ] H 821l 1,767 864 903 -5  -10 -1 1 2 -5 2 7 —4 0 4
HHIENT H 239 505 253 252 —4 -3 0 1 1 -3 0 3 0 0 0
HESE 3,137 7,295 3,607 3,688 1 -1 -2 4 6 0 23 23 -1 5 6
<HWE—TH 604f 1,384 673 711 0 1 0 1 1 -1 2 3 2 2 0
<HEIL—TH 723l 1,488 724 764 -1 -8 -3 0 3 2 7 5 -7 0 7
SHBEIL=TH 519 1,141 558 583 3 4 0 1 1 2 5 3 2 2 0
<HEWLPTH 584 1,198 594 604 -2 0 2 2 0 -2 2 4 0 2 2
<O T H 295 660 354 306 1 1 -1 0 1 2 2 0 0 0 0
<WEEEH 2,7250 5,871 2,903 2,968 1 -2 -2 4 6 3 18 15 -3 6 9
WIE AR —TH 791 1,706 847 859 1 -2 0 0 0 -1 5 6 -1 0 1
WIEAR T H 475 1,140 585 555 2 0 0 0 0 -1 1 2 1 2 1
PIEARTEE 1,266]  2,846] 1,432| 1,414 3 -2 0 0 0 -2 6 8 0 2 2
s 391 760 361 399 0 2 -1 0 1 -2 1 3 5 5 0
ek —TH[ 1,079 1,729 786 943 1 2 2 3 1 0 16 16 0 1 1
e T H 428 731 361 370 1 1 1 1 0 0 5 5 0 0 0
kR =T H 673 1,722 810 912 8 8 -1 0 1 5 7 2 4 4 0
sk BRI H 405 856 411 445 -2 0 0 0 0 0 1 1 0 2 2
A aaEl 2,585 5,038 2,368] 2,670 8 11 2 4 2 5 29 24 4 7 3
FRIREET 20 54 28 26 0 0 0 0 0 0 0 0 0 0 0
B 757 1,743 840 903 -1 —4 -2 1 3 -2 6 8 0 0 0
VEEE 320 731 333 398 0 -2 1 1 0 0 3 3 -3 1 4
e — T H 4491 1,118 551 567 2 -2 0 0 0 -2 0 2 0 0 0
e T H 401 914 445 469 -1 1 0 0 0 1 3 2 0 0 0
oo B R 850| 2,032 996 1,036 1 -1 0 0 0 -1 3 4 0 0 0
P — T H 674 1,384 696 688 -3 -2 0 1 1 -5 1 6 3 3 0
P T H 540 1,301 616 685 0 —4 -1 0 1 —4 1 5 1 1 0
Ve A Er 1,214 2,685 1,312| 1,373 -3 -6 -1 1 2 -9 2 11 4 4 0
P e 322 689 345 344 -1 0 -3 0 3 2 3 1 1 3 2
BEHIR 211 504 267 237 -1 1 2 2 0 -1 0 1 0 0 0




